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Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people 1s the authentic life, not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little. but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message, to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private, nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who i1s merely entertaining his readers, even one who is merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here is the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: 1
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lolananya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech, and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise lus life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that. Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilment of his ambition in their lives.”

Sub questions

Question Number : 1 Question Id : 68634038386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more cloquently from the Mandalay fortress than through the columns of the printed Kesari.

What 1s the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly

-

. Convert in the intelligible language

LW

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340151601. 1
686340151602. 2
686340151603. 3
686340151604. 4

Question Number : 2 Question Id : 68634038387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the result of Lokmanya Tilak’s exemplary life ?

1. People resolved to fulfil his life’s dreams

[ ]

. The newspapers edited by him did not imeur money loss
3. The books written by him were useful

4. Critics still find fault with his views

Options :

686340151605. 1
686340151606. 2
686340151607. 3
686340151608. 4

Question Number : 3 Question Id : 68634038388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 15
true?

1. Their influence on people was negligible

[ ]

. Very few people used to read the newspapers edited by them

L¥¥]

. They were moral in private life but lax in public life

4. They were allowed to edit their newspapers even from inside the jail

Options :

686340151609. 1
686340151610. 2
686340151611. 3
686340151612. 4

Question Number : 4 Question Id : 68634038389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of critics, according to the passage?

1. To find fault with one or the other expression of a writer

| S

. To price only those writers whom they like

3. To suggest new ideas to the public

b

. To justify their criticism

Options :
686340151613. 1
686340151614. 2



686340151615. 3
686340151616. 4

Question Number : 5 Question Id : 68634038390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lokmanya Tilak’s messages were most effective:
1. when he delivered through his editorials
2. betore his imprisonment
3. when he became an informer
4. when he delivered speeches

Options :

686340151617. 1
686340151618. 2
686340151619. 3
686340151620. 4

Question Id : 68634038385 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people 1s the authentic life, not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little. but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message. to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private, nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers. even one who 1s merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here is the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak; 1
believe that an editor who has anything worth saying and who commands a clientele cannot be casily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lolimanya Spoke more eloquently
trom the Mandalay fortress than through the columuns of the printed Kesari. His mfluence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilinent of his ambition in their lives.”

Sub questions



Question Number : 1 Question Id : 68634038386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What iz the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly

| B

. Convert in the intelligible language
3. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340151601. 1

686340151602. 2

686340151603. 3
686340151604. 4

Question Number : 2 Question Id : 68634038387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following is the result of Lokmanya Tilak’s exemplary life ?

1. People resolved to fulfil his life’s dreams

J

. The newspapers edited by him did not ineur money loss
3. The books written by him were useful

4. Critics still find fault with his views

Options :

686340151605. 1
686340151606. 2
686340151607. 3
686340151608. 4

Question Number : 3 Question Id : 68634038388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 15
true?

1. Their influence on people was negligible

[ ]

. Very few people used to read the newspapers edited by them

Lad

. They were moral in private life but lax in public life
4. They were allowed to edit their newspapers even from inside the jail

Options :

686340151609. 1
686340151610. 2
686340151611. 3
686340151612. 4

Question Number : 4 Question Id : 68634038389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of crities. according to the passage?

1. To find fault with one or the other expression of a writer

J

. To price only those writers whom they like
3. To suggest new ideas to the public
4. To justify their criticism

Options :

686340151613. 1

686340151614. 2

686340151615. 3
686340151616. 4

Question Number : 5 Question Id : 68634038390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya Tilak’s messages were most effective;

1. when he delivered through his editorials

b2

. before his imprisonment

. when he became an mformer

LFN]

4. when he delivered speeches

Options :
686340151617. 1



686340151618. 2
686340151619. 3
686340151620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401262
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634038391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein is produced skin milk by coagulation rennet. Soluble calcium ions are
required this reaction. Sufficient quantities calcium 1s already present in milk.

1. from. with, for, of
2. from. with. of. for

. from. in. with. for

L]

4 from. of. for, with

Options :

686340151621. 1
686340151622. 2
686340151623. 3
686340151624. 4

Question Number : 6 Question Id : 68634038391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein is produced skin milk by coagulation rennet. Soluble calcium ions are
required this reaction. Sufficient quantities calelum 1s already present in milk.

1. from. with. for, of

-

2. from. with. of. for

. from. in. with. for

%]

4. from. of. for, with

Options :

686340151621. 1
686340151622. 2
686340151623. 3
686340151624. 4



Question Number : 7 Question Id : 68634038392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
B. [Dubious 1L |Gift
C. [Contemptoous | IIL [Uncertain
D. [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1. D-III

[

. A-IIL B-1, C-IV, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-II. C-IV, D-II

Options :

686340151625. 1
686340151626. 2
686340151627. 3
686340151628. 4

Question Number : 7 Question Id : 68634038392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
B. [Dubious 1L |Gift
C. [Contemptoous | IIL [Uncertain
D. [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-1. D-III

[

. A-IIL B-1, C-IV, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-II. C-IV, D-II

Options :

686340151625. 1
686340151626. 2
686340151627. 3
686340151628. 4



Question Number : 8 Question Id : 68634038393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

~

2. The team is confident of winning the match
3. The team 1s confident of win the match
4. The team is confident for winning the match

Options :

686340151629. 1
686340151630. 2
686340151631. 3
686340151632. 4

Question Number : 8 Question Id : 68634038393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

~

2. The team is confident of winning the match
3. The team is confident of win the match
4. The team is confident for winning the match

Options :

686340151629. 1
686340151630. 2
686340151631. 3
686340151632. 4

Question Number : 9 Question Id : 68634038394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

- |

2. high
3. lowest
4, cost

Options :

686340151633. 1
686340151634. 2
686340151635. 3
686340151636. 4

Question Number : 9 Question Id : 68634038394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

-}

2. high
3. lowest
4. cost

Options :

686340151633. 1
686340151634. 2
686340151635. 3
686340151636. 4

Question Number : 10 Question Id : 68634038395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct spelling word for:

"A board game mn which players buildup words from small size lettered tiles.”

1. Scrablle

| B

. Scrabble
3. Skrable

4. Scrablee

Options :

686340151637. 1
686340151638. 2
686340151639. 3
686340151640. 4

Question Number : 10 Question Id : 68634038395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct spelling word for:
"A board game in which players buildup words from small size lettered tiles."
1. Serablle
2. Scrabble

3. Skrable

4. Serablee

Options :

686340151637. 1
686340151638. 2
686340151639. 3
686340151640. 4

Question Number : 11 Question Id : 68634038396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L 2x 1 FIEE
If Sx+4y =83 and k= 1 Y, then the value of x*-~ 1s:
3y 2

1. 83

2

i
3.18
4.4

Options :

686340151641. 1
686340151642. 2
686340151643. 3
686340151644. 4

Question Number : 11 Question Id : 68634038396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2x 1 e
If 5x+4y =83 and ‘—\ = 1—, then the value of x*~ is:
3y

1. 83

| B¥]

Eliy
3.18
4.4
Options :
686340151641. 1
686340151642. 2

686340151643. 3
686340151644. 4

Question Number : 12 Question Id : 68634038397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 em, 9 m and 4 m
05 cm.

1.16m

2. 95 em
3.65ecm
4.45em

Options :



686340151645. 1
686340151646. 2
686340151647. 3
686340151648. 4

Question Number : 12 Question Id : 68634038397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 em, 9 m and 4 m
05 cm.

1.16m
2. 95 em

.65 em

Lad

4. 45 em

Options :

686340151645. 1
686340151646. 2
686340151647. 3
686340151648. 4

Question Number : 13 Question Id : 68634038398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of marks of 15 papers 1s 42. The average of marks of first 8 papers is 45 and that of the last 8

STh

papers is 36. The marks of 8™ paper are:

115

[ ]

16
S L
4. 18

Options :

686340151649. 1
686340151650. 2
686340151651. 3
686340151652. 4

Question Number : 13 Question Id : 68634038398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of marks of 15 papers 18 42. The average of marks of first 8 papers 13 45 and that of the last 8

STh

papers is 36, The marks of 8™ paper are:

1. 15

| ]

. 16
0 [ f
4. 18

Options :

686340151649. 1
686340151650. 2
686340151651. 3
686340151652. 4

Question Number : 14 Question Id : 68634038399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5. then after
five years the ratio of their ages will be:

Options :

686340151653. 1
686340151654. 2
686340151655. 3
686340151656. 4

Question Number : 14 Question Id : 68634038399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 15 3:5. then after
five years the ratio of their ages will be:



Options :

686340151653. 1
686340151654. 2
686340151655. 3
686340151656. 4

Question Number : 15 Question Id : 68634038400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it n 8 days. With the help of Ramu, they finish 1t m 3 days. The share of Ramu (in ) wall be :

1.1350

']
pL]
(=)
=)

4. 450

Options :

686340151657. 1
686340151658. 2
686340151659. 3
686340151660. 4

Question Number : 15 Question Id : 68634038400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it in 8 days. With the help of Ramu, they finish it in 3 days. The share of Ramu (in I) will be :

11550

| B

. 900
3.1200
4. 450

Options :

686340151657. 1
686340151658. 2
686340151659. 3
686340151660. 4

Question Number : 16 Question Id : 68634038401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

| ]
[ B
o

4 24

Options :

686340151661. 1
686340151662. 2
686340151663. 3
686340151664. 4

Question Number : 16 Question Id : 68634038401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

{ ]
| )
{5}

4.24

Options :

686340151661. 1
686340151662. 2
686340151663. 3
686340151664. 4

Question Number : 17 Question Id : 68634038402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR, how is 24539 written in that
code?

1. ALGTU

2

ALEUT
3.ALGUT

4. ALGRT

Options :

686340151665. 1
686340151666. 2
686340151667. 3
686340151668. 4

Question Number : 17 Question Id : 68634038402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR. how is 24539 written in that
code?

1. ALGTU
2.ALEUT
3. ALGUT

4. ALGRT

Options :

686340151665. 1
686340151666. 2
686340151667. 3
686340151668. 4

Question Number : 18 Question Id : 68634038403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(1i) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

I1. Some dim is top.

III. Some dim 1s leaf.

IV. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| ]

. Only II and IIT follow

L 5]

. Only IIT and IV follow

4. Only I and IV follow

Options :

686340151669. 1
686340151670. 2
686340151671. 3
686340151672. 4

Question Number : 18 Question Id : 68634038403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(1i) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

I1. Some dim is top.

III. Some dim 1s leaf.

IV. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| ]

. Only II and IIT follow

L 5]

. Only IIT and IV follow

4. Only I and IV follow

Options :

686340151669. 1
686340151670. 2
686340151671. 3
686340151672. 4

Question Number : 19 Question Id : 68634038404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-1
0ot 3 |4
0 [F Ja [w]o |t
1 Jr Jo Fla |n
2 JANJot |F
3 JoJF i v Ja
4 Nt JAJF Jo
Matrix-II
s 16 718 o |
5 s B r
6 H[s [E]T |B
7 Bir s | |H
8 [EH]r[B s
9 It s [E g |B |

Identify the correct set for the word FAITH :
1.43, 42, 41, 78. 89
2. 34,334,723, 76,79
3.24,31. 10, 59, 57
4.12, 20.40. 68. 65
Options :
686340151673. 1
686340151674. 2

686340151675. 3
686340151676. 4

Question Number : 19 Question Id : 68634038404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-1
0ot 3 |4
0 |F Ja [w]o |t
1 [T Jo Fla |N
2 [ANJoft JF
3 JoJF Ly Ja
4 n i [alF Jo
Matrix-IT
s e 708 Jo |
5 IsE B It
6 H s [T |B
7 BIr s e |u
8 |EH T [B |s
9 |t s [E|H [B |

Identify the correct set for the word FAITH :
1.43.42. 41,78, 89
2.31,34,23,76, 79
3. 24, 31. 10. 59. 57
4.12. 20. 40, 68. 65
Options :
686340151673. 1
686340151674. 2

686340151675. 3
686340151676. 4

Question Number : 20 Question Id : 68634038405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below

Egg : Omelette
1. Dam : River
2. Student : Classroom
3. Onion : Jam
4, Clay : Pottery

Options :



686340151677. 1
686340151678. 2
686340151679. 3
686340151680. 4

Question Number : 20 Question Id : 68634038405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below

Egg : Omelette

1. Dam : River

| B

. Student : Classroom
3. Onion ; Jam
4. Clay : Pottery

Options :

686340151677. 1
686340151678. 2
686340151679. 3
686340151680. 4

Question Number : 21 Question Id : 68634038406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Artiele 36

J

CArticle 30
3. Article 40

4. Article 48

Options :

686340151681. 1
686340151682. 2
686340151683. 3
686340151684. 4

Question Number : 21 Question Id : 68634038406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Asticle 36

| S]

CArticle 30
3. Article 40

4. Article 48

Options :

686340151681. 1
686340151682. 2
686340151683. 3
686340151684. 4

Question Number : 22 Question Id : 68634038407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Book Name) LIST II {Author Name)
A My Truth 1. [Mahatma Gandhi
B. |The Broken Wings II. Indira Gandhi
C. Py Experiments with Truth] III. [Sarojini Naidu
D. [Exam Warriors IV. |[Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-1. D-II
2. A-IIL B-IL C-I. D-IV
3. A-IL B-II1, C-1. D-IV
4. A-IL, B-IIL, C-IV. D-I

Options :

686340151685. 1

686340151686. 2

686340151687. 3
686340151688. 4

Question Number : 22 Question Id : 68634038407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Book Name) LIST II {Author Name)
A My Truth 1. [Mahatma Gandhi
B. |The Broken Wings II. Indira Gandhi
C. Py Experiments with Truth] III. [Sarojini Naidu
D. [Exam Warriors IV. |[Narendra Modi

Choose the correct answer from the options given below:
1. A-IV, B-III. C-1. D-II
2. AL B-IL, C-L. D-IV
3. A-IL B-II1, C-1. D-IV
4. A-IL, B-IIL, C-IV. D-I

Options :

686340151685. 1
686340151686. 2
686340151687. 3
686340151688. 4

Question Number : 23 Question Id : 68634038408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the first Indian women to win gold in Agian games ?
1. P.T. Usha
2. Shing Wilson
3. Kamaljeet Sandhu

4. Shweta Chaudhary

Options :

686340151689. 1
686340151690. 2
686340151691. 3
686340151692. 4

Question Number : 23 Question Id : 68634038408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the first Indian women to win gold in Asian games 7

1.PT. Usha

| ]

. Shing Wilson
3. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340151689. 1
686340151690. 2
686340151691. 3
686340151692. 4

Question Number : 24 Question Id : 68634038409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 13 NOT the correct explanation of A
3. A s true but R is not false

4. A 1s not false but B 15 true

Options :

686340151693. 1
686340151694. 2
686340151695. 3
686340151696. 4

Question Number : 24 Question Id : 68634038409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other 15 labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

|

. Both A and R are true but R 1s NOT the correct explanation of A
3. A s true but R is not false

4. A 1s not false but B 15 true

Options :

686340151693. 1
686340151694. 2
686340151695. 3
686340151696. 4

Question Number : 25 Question Id : 68634038410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux in iron and steel industry.

Statement II : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340151697. 1
686340151698. 2
686340151699. 3
686340151700. 4

Question Number : 25 Question Id : 68634038410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux m iron and steel industry.

Statement II : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the mest appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

J

. Both Statement [ and Statement II are incorrect
3. Statement I 18 correct but Statement I is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340151697. 1
686340151698. 2
686340151699. 3
686340151700. 4

Part B: Economics

Section Id : 686340756
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : |
Sub-Section Id : 6863401263
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634038411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Markets fail in the presence of

A. Market power

B. Positive Externalities

C. Negative Externalities
D. Competitive market

E. Asymmetric information

Choose the correct answer from the options given below:
1. B & C only
2.A.B.Conly
3.B.C,D only

4. A B.C.E only
Options :
686340151701. 1
686340151702. 2
686340151703. 3
686340151704. 4

Question Number : 26 Question Id : 68634038411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepet Juifd & ST9R /% 5l & &2

A, SIS SIfad

B. YBRIED SIeidid
C. THRIHT Ian
D. Widmyi&® SR
E. AT g

<19 fau e faeedl & € 9ad 9ugad ST &1 994 Bifod:
1. #ad B AR C

. PATA. B, C

3. $4d B, C, D

4. BAA A, B.C.E

Options :

686340151701. 1
686340151702. 2
686340151703. 3
686340151704. 4

| ]

Question Number : 27 Question Id : 68634038412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST 11

A | Pbts Do I Non-Rival in consumption and
excludable

& | Club Goods I Rival in consumption and
excludable

c Common Pool 1 Mon rival in consumption and

" | Resources " Non-excludable

D. | Public Goods v Fival in consumption and Non -

excludable

Choose the correct answer from the options given below:

1. A-L. B-IL. C-IIL D-IV

| ]

CA-IL B-TIV, C-1, D-III
3. A-IL B-L. C-IV, D-III

4, A-TV. B-II1. C-II, D-1
Options :
686340151705. 1
686340151706. 2
686340151707. 3
686340151708. 4

Question Number : 27 Question Id : 68634038412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T = 11 9 e Sifsy

Tt 1 T 1T
B EEiEs 1 [SuHiT H IR piaegel iR amaeiy
U | 1. [gusi o ufgensdl &R sugsi-i

B T R W S e
[ R suasHg
[graeiEs gy | v gy H nigegs @R IR syaeHig

fafarad fomedl & 9 95t SR T 90 S -

1. A-L, B-11, C-IIL. D-IV

EE
A
4

| )

CA-ILL B-IV. C-1, D-III
3. AL B-1 C-IV, D-III

4. A-TV, B-1I1. C-I1. D-1
Options :
686340151705. 1
686340151706. 2
686340151707. 3
686340151708. 4



Question Number : 28 Question Id : 68634038413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct ?

A. Life cvele hypothesis was propounded by Francois Modigliani

B. Absolute Income Hypothesis was propounded by Milton Friedman

C. Relative Income Hypothesis was propounded by James Duesenberry.

D. Permanent Income Hypothesis was propounded by John Maynard Keynes

Choose the correct answer from the options given below:

1.A& Conly

[ )

.A. B, C only
3. A&D only

4.B & C only
Options :
686340151709. 1
686340151710. 2
686340151711. 3
686340151712. 4

Question Number : 28 Question Id : 68634038413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e S I e I T &

A Volsy gifsfiemrt 3 siiaa 9% gReeg-T &1 ufdures faar ur|
B. fiee first= 3 vty smo uRaeg=n &1 ufaures fovar un

C. SR SEAER A AROar 3mg geed T 1 ufdare fear o

D. S 518 =4 RIS 3119 URarea=1 &1 Wiagre- fovar o1

1= AU T faeel & 8 98 9uged TR &1 99 DIy
1. Fad A 3R C
2.%dd A.B.C
3. PaA AR D
4.%dd B3R C
Options :
686340151709. 1
686340151710. 2

686340151711.3
686340151712. 4

Question Number : 29 Question Id : 68634038414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other 1s
labelled as Reason R:

Assertion A: Pareto optimality implies that an allocation of resources is inefficient
when it 18 possible. through some change in the allocation of resources to benefit at
least one person without making anyone else worse off.

Reason R: Parcto efficiency takes into account distributive justice and
compensation of people affected negatively.

In the light of the above statements. choose the mest apprepriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R 18 NOT the correct explanation of A.
3. A 1s correct but R is not correct.

4. A is not correct but R is correct.
Options :
686340151713. 1
686340151714. 2
686340151715. 3
686340151716. 4

Question Number : 29 Question Id : 68634038414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 € PYA [GU T 6 U SITUDY (Assertion A) P U ¥ [e1Rad € off g3
IS PRI (Reason R) % Y O

fUBYT A: TR gyarar YT T ¢ [ THE 10 6 AFTa 8
Wi g 94d ¢t [ Ia1eHi & sndeq @ i uRada § &8 4 &1 U oiad &l
T UG O Il o.[bd! 30 & &fd Ug A f&r]

PRI R: Tel 24l [ToRueR O 3R 9 RE® &9 9 g4iidd arm o
Ui o1 TaTed Bedl o

SR U= & Sidie 5, = U U [dbedl § ¥ 9aw Sugad SR & 997
IE 1:

1.ARREH Tl € IR A DI U5 AR &

A AR RTF TG § IR R. A T U5 AT ol &
AT R APAR TR TR ©
4. A S Gl BB R TSl &

Options :

686340151713. 1
686340151714. 2

| ]



686340151715. 3
686340151716. 4

Question Number : 30 Question Id : 68634038415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
What is the number of degrees of freedom of the residual sum of squares in a
simple bivariate hinear regression with 100 observations?

1. 100

b

07
3.98

4.2
Options :
686340151717. 1
686340151718.2
686340151719. 3
686340151720. 4

Question Number : 30 Question Id : 68634038415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 H&MUT & T1Y Ue TR fga” 3@ SHIYgu § Safarsar af anT ot Taaar
DI HIfad] & T=I 7122

1. 100

| )

. 97
3.98

4.2
Options :
686340151717. 1
686340151718. 2
686340151719. 3
686340151720. 4

Question Number : 31 Question Id : 68634038416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. d
For a level curve of f'[x, 1,-} — y2 . what is the value of —7

| B}

ok
|
d

Y

—1. 1

X

Options :
686340151721. 1
686340151722.2
686340151723. 3

686340151724. 4

Question Number : 31 Question Id : 68634038416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F(x, v) =22y T E TR P 2T % W—

2x

1.~

|

Options :

686340151721. 1
686340151722.2
686340151723. 3
686340151724. 4

Question Number : 32 Question Id : 68634038417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



C
What is the degree of homogeneity of ¢ (x,¥)= i O
J X, =

X

| B
piis

4.6
Options :
686340151725. 1
686340151726. 2
686340151727. 3
686340151728. 4

Question Number : 32 Question Id : 68634038417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feoy) =2 L TG B R wm R

1.3

!'J
—

4.6
Options :
686340151725. 1
686340151726. 2
686340151727. 3
686340151728. 4

Question Number : 33 Question Id : 68634038418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Data collected at a point in time are called

1. Cross - sectional data

| ]

. Time series data

. Pooled data

Lad

4, Panel data
Options :
686340151729. 1
686340151730. 2
686340151731. 3
686340151732. 4



Question Number : 33 Question Id : 68634038418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eﬁﬂ%ﬂﬁﬂﬁﬁgﬂ?ﬂﬁ@dSmhéﬁﬂﬁbﬁma%?

l"\ o

1. fordep anffg sffes (oY sffee)
. @Td- 9uft s

4, 999 (1) Hids
Options :
686340151729. 1
686340151730.2
686340151731, 3
686340151732, 4

[

fal

Question Number : 34 Question Id : 68634038419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The budget presented in the Parliament on the 1% of February 2023 for the
financial yvear 2023-24 has the Revised Estunated (RE) and Actuals. of the
tinancial years and respectively.

1.2023-24 and 2022-23

{ B

. 2022-23 and 2021-22
3.2021-22 and 2022-23

4.2021-22 and 2023-24
Options :
686340151733. 1
686340151734. 2
686340151735. 3
686340151736. 4

Question Number : 34 Question Id : 68634038419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

faad 2023-24 %@@Wﬂ 2023 P THe ¥ Wd gore 4 faway
& P Y: HRIE UPIa (RE) SR aRaidd

PICANEES
1.2023-24 3R 2022-23

. 2022-23 31 2021-22

[

3.2021-22 3R 2022-23

4.2021-22 3R 2023-24



Options :

686340151733. 1
686340151734. 2
686340151735. 3
686340151736. 4

Question Number : 35 Question Id : 68634038420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum value of the monetary policy multiplier 1s (where b
implies sensitivity of planned investment spending to interest rate. ¢ implies
marginal propensity to consume and t = marginal tax rate. k implies sensitivity of
money demand to interest rate).

1 2

l—c(l-1)
g &
l—c(1-¢)

3.

k

1

4. =

b

Options :

686340151737. 1
686340151738. 2
686340151739. 3
686340151740. 4

Question Number : 35 Question Id : 68634038420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifsa i [0 &1 sHftean 7F HICHE RS o ]

e o @1 Taeafrddr sifdud 8. « ¥ ITHIT ST i gaf v §

g’r{ ¢ = T B EX §, k I 0TS & & Wi T B HiTT &) Gag-i=ierar i
)

b
1'1—c(l—r}
, Kk
2 Teli=h)
3.

k
, L
b

Options :



686340151737. 1
686340151738. 2
686340151739. 3
686340151740. 4

Question Number : 36 Question Id : 68634038421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A firm in a perfectly competitive market is making zero economic profit in the
long run. It will have the incentive to :

1. Shut down

[ ]

. Continue to operate as it is
3. Exit

4. Relocate to another industry
Options :
686340151741. 1
686340151742. 2
686340151743. 3
686340151744. 4

Question Number : 36 Question Id : 68634038421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quiaa uicgsl aT9R H Us BH el § Y s @y @R uReEes
Tl © | 5P U FHffad & &1 Uiee= 8T

1. TS BT (65 BT
. QUIRRYT PTd HTeH Bl

3. =i

4. 3 BYNT I SR GG HAT

Options :

686340151741. 1
686340151742. 2
686340151743. 3
686340151744. 4

-2

Question Number : 37 Question Id : 68634038422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Which of the following production functions is NOT homogeneous of degree one?

1.Q=aL+bK
3. Q=23vKL

1.0Q= A[G{l ,_ﬁ +(1 —iI)K_ﬁIIm where 0 <g <1

Options :

686340151745. 1
686340151746. 2
686340151747. 3
686340151748. 4

Question Number : 37 Question Id : 68634038422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofafEaa ¥ 9 o9 91 391eH Bad UTd U6 &1 9997d T8l 87

1.Q=aL+bK

[ ]

Q=al ¥KL2

3. 0=23/KL
- 1P
4.Q= AI:(II By (l —Q)K_ﬁ:| / where 0<a<1
Options :

686340151745. 1
686340151746. 2
686340151747. 3
686340151748. 4

Question Number : 38 Question Id : 68634038423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The law of diminishing returns to a factor 1s observed when employment of
additional units of a resource leads to

1. A decline in total product

J

. A decline in average product

L]

. A decline in marginal physical product

4. A decline mn marginal cost
Options :
686340151749. 1
686340151750. 2
686340151751. 3



686340151752. 4

Question Number : 38 Question Id : 68634038423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol Ta1eH &t Sffaiad Seedl & FaieH &1 $RE & gHH Yidbdl &
o & SIFER 1 uRkomE g1 82

1. J%d 35 5 g9

| B}

. 37T TS 1 B
3. dmid Wifds 3ame § g9
4. TiH7d oFTd H g9

Options :

686340151749. 1
686340151750. 2
686340151751. 3
686340151752. 4

Question Number : 39 Question Id : 68634038424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Book) LIST II {Author)
An inquiry into the Nature and Causes

B of Wealth of Wations . |Pavid G
Principles of Political Economy and 1 John Maynard
" |Taxation T |Keynes
C. | Theories of Surplus Value 111 | Karl Marx
General Theory of Employment v | Adam Smith

" |Interest and Monev

Choose the correct answer from the options given below:

1. A-I, B-1I. C-IIL. D-IV

-2

CA-TL B-I. C-II1. D-IV
3. A-IV. B-1. C-III. D-II

4. A-IV. B-II1. C-1. D-II
Options :
686340151753. 1
686340151754. 2
686340151755. 3
686340151756. 4

Question Number : 39 Question Id : 68634038424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1T = 11 9 e Sifsy
T T I

0 3P 52 G AeR U3 Plofol b ded| . |
A T Jatg 1 [efas frarst
= MU S Uiidicdhd sdiaH] 108 = i HATS
| [fREE [T
C. [T 31 T 9. 111 [@T] A1k
R V. [UsH ey

fafiiad fomedl & 1 98 IO &1 999 S

1. A-L, B-IL. C-IIL D-IV

-2

.A-TL B-I. C-IIL. D-IV
3. A-IV. B-1. C-III. D-II

4. A-IV. B-II1. C-1. D-II
Options :
686340151753. 1
686340151754. 2
686340151755. 3
686340151756. 4

Question Number : 40 Question Id : 68634038425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which of the following are correct in presence of negative externalities?

A. Negative externalities lead to an inefficient allocation of resources.

B. Marginal external cost curve is added vertically to the private marginal cost
curve to yield the social marginal cost curve,

C. The efficient level of output attained is more than the market equilibrium
output,

D. The intersection of the marginal social cost curve with the demand curve
gives the etficient level of output

Choose the correct answer from the options given below:

1. A. C only

-

. C.D only
3.A.Band D only

4. B. C. D only
Options :
686340151757. 1
686340151758. 2
686340151759. 3
686340151760. 4



Question Number : 40 Question Id : 68634038425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

frafalRad § 3 oF TorREs arast ot sufufa d ggi § 2

A. THRIAS FIIH I TareH ST Spa fded gial o
B. grfoies Jiid arTd 9% o1 Uit B ST 918 T 996 &1 Jeaier 39
I Tl Higid g a6 4 Siisl 9l o
C. IUTE & G&TH W1 & Ui SR Jded ard 3d1g 9 31 gidi g1
D. BT gp & 1Y A GrH1fore @rTd 9 &1 Uidwss, 3G B g&dd TR
TS Bl &
3¢l yed fdmedl & 3 Ugl SR & 994 i,
1. ®ad A AR C
. &ad ¢ AR D
3. HAA A, BIHRD

4. $dd B, C 3RD
Options :
686340151757. 1
686340151758. 2
686340151759. 3
686340151760. 4

[ ]

Question Number : 41 Question Id : 68634038426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In the extreme case of perfect price discrimination the dead weight
loss of monopoly 1s completely eliminated and all the surplus in the market goes to
the monopolist.

Statement IT: Imperfect price discrimination necessarily increases welfare
compared to the outcome of a single monopoly price.

In the light of the above statements. choose the most appropriare from the options
given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect

Ladi

. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement IT 15 correct
Options :
686340151761. 1
686340151762. 2



686340151763. 3
686340151764. 4

Question Number : 41 Question Id : 68634038426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

TR Py RuE:

®YA I JUI e fd1ig & =8 Ac § UHlUoR 31 o UR THH (SSde
g@@w%wﬁw%amww@%qﬁ%@ﬁm
t

Y 11: 3190l gl fadg 3axue 30 4 U UBIUeR Oed & Ui &1
qa1 & e serdl gl

SR HA & o 3, 19 Ry g faeped! & 3 Wit IR &1 79 P
1. BYI AR I 9 8

YA 1R 1 S Tad §

Y1981 8, Ao $YF I17T9d §

4. TYF LTE &, QT HU 11 81 8

Options :

686340151761. 1
686340151762. 2
686340151763. 3
686340151764. 4

[ ]

Lad

Question Number : 42 Question Id : 68634038427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I; Coefficient of correlation can not be less than - 1.
Statement II: Regression coefficient can not be less than - 1.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 15 true
Options :
686340151765. 1
686340151766. 2
686340151767. 3



686340151768. 4

Question Number : 42 Question Id : 68634038427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

G Py fau

HYF I TERIE BT 00 -1  TF Te 6] 9Pl o

HYUA 1. TEHIU [0S -1 9§ $F 51 6l Aol ¢

Sulad Hu & el . 19 Ry g fwed] § 3 wdt I &1 999 Fife
L AT AR T §

Y 1 R I HT S §

3L HYTIgT . AT Py 3Ea B

[ ]

4. FYTI IS, AT HUT T ©
Options :
686340151765. 1
686340151766. 2
686340151767.3
686340151768. 4

Question Number : 43 Question Id : 68634038428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Normal distribution is positively skewed.
Statement IT : Normal distribution is leptokurtie.

In the light of the above statements, choose the correct answer from the options
given below:

1. Both Statement I and Statement II are tiue

[ ]

. Both Statement I and Statement II are false

L]

. Statement I is true but Statement I 15 false

4, Statement I is false but Statement IT 1s true
Options :
686340151769. 1
686340151770. 2
686340151771. 3
686340151772. 4

Question Number : 43 Question Id : 68634038428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i gl Py AU E:

HY 1. TIH 8¢ IHRIES 30 3 [Au0 sl g1

HYA I1: TIHHI ded gadal (Quipicd) g

SRS o & fTaie 1, =19 [y T [aeedl o 9 At S &1 997 S
1. PUA ISR IS I 8

BYFT AR T ST 3 §

IO, A PYT I AT

[ ]

Lad

4 YT ITI R, AP PYT L T8
Options :
686340151769. 1
686340151770. 2
686340151771. 3
686340151772. 4

Question Number : 44 Question Id : 68634038429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
For TC (Total Cost) =20 + 10q - 3¢ + ¢° 3
A T —6q +3g°
AFC (Average Fixed Cost) is: e
= Ty LA 45 .
B Given TC =20+ 10g- 39 +q I |10 - 3g + ¢

" PMC (Marginal Cost) 15

. [Given TC =20+ 10q - 3¢° + ¢° 20 5
€. IIL |~ +10 - 3q +
AV C (Average Variable Cost) 1s: q A%A

Given TC =20+ 10q- 3¢+ ¢q° =
D IV {200
ATC (Average Total Cost) 1s: 4

Choose the correct answer from the options given below:

1. A-IL. B-1II. C-1. D-IV

| )

CA-TV, B-I1L C-1L D-III
3. A-IV. B-1. C-I1. D-III

4. A-IIL B-IV. C-11. D-I
Options :
686340151773. 1
686340151774. 2
686340151775. 3
686340151776. 4



Question Number : 44 Question Id : 68634038429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T = 11 9 e Sifsy
e T 11
@l AT TC (Total Cost) = 20 + 10g -
A Bg'+g ) L |10 -6q+ 3¢
od Ad R AN (AFO) §
B. @IWWTC=ZD+IDq-3q3+q3 i o 30 2
T TR MO) & aTq
. PEd @A TAFE TC =20 + 10g - 3¢" + ¢° 20 .
C. 1L — +10-3q +
HIEd 9 O (AVC) © a 4
Gd §d TNTd TC =20+ 10g -3¢ + & | ;v b
D. | - IV, [20/
H1ad &4 AT (ATC) & o
Fefaiad fae el § 9 981 3o &1 98- Sife -

1. A-I1. B-1II. C-L. D-IV
2. A-IV. B-II. C-1, D-IIT
3. A-IV. B-1. C-II. D-III

4. A-IIL B-IV. C-I1. D-1
Options :
686340151773. 1
686340151774. 2
686340151775. 3
686340151776. 4

Question Number : 45 Question Id : 68634038430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement(s) for an open economy:

A Sterilisation implies nullifying the impact of forsign exchange transactions
oni domestic money supply.

B. In a sterilized intervention in the foreign exchange market by the central
bank. a purchase of foreign assets should be matched by a sale of domestic
assets.

C. In an open economy with fixed exchange rates and perfect capital mobility.
the central bank can pursue independent monetary policy.

D. Sterilised intervention with perfect asset substitutability under fixed
exchange rate allows the exchange rate to depreciate.

E. Real exchange rate can change only due to changes in nominal exchange
rate.

Choose the correct answer from the options given below:

1. C and D only

| B

.C.B and E only
3. Aand B only

4. B. C and D only
Options :
686340151777. 1
686340151778. 2
686340151779. 3
686340151780. 4

Question Number : 45 Question Id : 68634038430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U el HforawT 8 Tl B BT 957 BifaC|

A SPREUT (RERaTgeeH) I U gl sl w faaxh faf-og a9ed uuE
B TR gl o 2

B. 50 9% g1 facsh fofom aoR § snfiRféa swen & swia fageh
gl ©1 @3iiE &1 9id uRamil &1 f9®! 9 59 g Inieu|

c. FaR fafam gv 9 ol @1 gul Tidfrerd ol e gell siderasn o s
S& T@dd Aifc® ifd &1 uRkearas s gsdr ol

D. R fafFmy &3 & sicrla gl of ol afawira-igdr & 9
HIERT&T ETa AT o &1 B g1 @1 3T HaH Sl o

E.gwﬁﬁﬁma?%ﬁﬁﬁﬁ faf-ma <3 o uftad+l & ®RU 95 gl

E

- fou e famedl & 9 9ad 9ugad ST &1 98- Bifos:
1.%ad € R D
2.%a8 C.B 3R E
3.%ad AR B
4.%ad B.C R D

Options :

686340151777. 1
686340151778. 2
686340151779. 3
686340151780. 4

Question Number : 46 Question Id : 68634038431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose the US interest rate 1s 3% per annum. The %-$ exchange rate in spot
market is 80 and in 3 - month forward market is 81. What is the per annum return
on US bond in rupee terms?

1. 4.25%

b2

. 8%

Options :

686340151781. 1
686340151782. 2
686340151783. 3
686340151784. 4

Question Number : 46 Question Id : 68634038431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 ST & 4,0 oarel &R 3% Wfa & BIOR SISIR(EIE HIHT) H -3
fafe 2R 80 3R 3 HEH 99 91WR (BIRAS Hlde)d 8181 IUU S GG H Y,
U9 s IR Ufaay ufdwa & 82

1.4.25%

| E)

8%
3. 1.75%

4. -2%
Options :
686340151781. 1
686340151782. 2
686340151783. 3
686340151784. 4

Question Number : 47 Question Id : 68634038432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. L .
The function —'552 1s:
¢

s

. convex for I YI < | and concave for Irl >

-2

. concave for ‘xl < | and convex for It‘l > 1
3. convex everywhere

4. concave everywhere
Options :
686340151785. 1
686340151786. 2
686340151787. 3
686340151788. 4

Question Number : 47 Question Id : 68634038432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1, |x|<}%§6ﬁﬂﬁ?|_r|>l%§&ﬂ?lﬁ
2.|x| < 19 Sfaard R |+ > 1 89 ST
3. 47 Iad

4, a4 3add
Options :
686340151785. 1



686340151786. 2
686340151787. 3
686340151788. 4

Question Number : 48 Question Id : 68634038433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Garran Tribunal was constituted during the colonial times to:

1. discuss about the division of taxes between the provinces and centre in
colomal India

J

. discuss and decide about the division of financial responsibilities between
India and Britain on mlitary expenditure.

3. decide on the pricing of railway tariffs in colonial India

4. decide about the famine relief strategy in the backeround of the Great Bengal
Famine
Options :
686340151789. 1
686340151790. 2
686340151791. 3
686340151792. 4

Question Number : 48 Question Id : 68634038433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

HITFAR BT & SRF T1d 1A SHTYE o1 164 foow &g fovar mar up

1. AOFeE YRA S S AR Ul S e B & [GHeH & IR § 94T
P Bl

2, O e gl IR YRd 3R 57 & &9 fodiig SReital & ffure= & R
T 79i iR oo a=A 8

3. SATHTARE YR I ¥d Yo@ (¢R%) & Jed9 T Hoi 37 54
4. SIS o HEl- SPTd I gRYH T 3f@Te 8 I WM B Hoig &3 g

Options :

686340151789. 1
686340151790. 2
686340151791. 3
686340151792. 4

Question Number : 49 Question Id : 68634038434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose in a closed economy aggregate demand is given by AD = A(y.1) where y
is real income and 1 is rate of interest. IS curve represents a locus of different

combinations of y and 1 for which y = A(y. 1). What is Q,’ along the IS curve?
di

1+,
Aj
Options :
686340151793. 1
686340151794. 2
686340151795. 3
686340151796. 4

Question Number : 49 Question Id : 68634038434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
77 SfoTE 5 U d5 arfoqawr B ST Al AB = A(y.i) & gRIUST & 9y
qrIfdes 3T SR i WA BT R g1 1S TP y 3R i & I faii T=d] &1 faguy
2 RS R0 y=A®i). B ISTF R % RIE 2

I

14,
A;
Options :
686340151793. 1
686340151794. 2
686340151795. 3




686340151796. 4

Question Number : 50 Question Id : 68634038435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Among the new monetary aggregates of RBI (suggested by Y.V. Redy working
group) which one includes time deposits of maturity up to 1 year but not longer
maturity?

1. NMI1
2. NM2
3. NM3

4. MD
Options :
686340151797. 1
686340151798. 2
686340151799. 3
686340151800. 4

Question Number : 50 Question Id : 68634038435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

(ﬁﬁgﬁm‘qﬂﬁmﬁ%ﬁmﬂaﬁﬂﬁ) AR, & S, F a4 Hifgs gl
& He S T IHY 3 grafes SqH1sl &1 giiferd oear ¢ fome! aRkgsar
3ale U g4 @ 5l W 39 HY® gRuar Sfale ardl graids SHrs] o
EE

1LEATH 1
2.T9TH2
3.0TUH3
4.THO

Options :

686340151797. 1
686340151798. 2
686340151799. 3
686340151800. 4

Question Number : 51 Question Id : 68634038436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The rate of growth of the output of an economy during a period 1s 5% If the shares
of capital and labour are 0.6 and 0.4 respectively and capital and labour grow at
10% and 5% respectively. what is the solow residual for the output function given
g ¥ = A k? Ll x

-

[
(=]

&

3.-3%

4. 4%
Options :
686340151801. 1
686340151802. 2
686340151803. 3
686340151804. 4

Question Number : 51 Question Id : 68634038436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foreil araft & v ord oyawy1 & I Dl gl Fi & 5% &1 IdE 3 guil 3R
T & 3 HH: 0.6 3R 0.4 3. TUTYST 3R 97 P qGax HHE: 10% 3R 5%
21 AU guSaEa B v = A-k“L* & fu Siell (Solow) SiafRry o gim.

1.3%

[ ]
| B}
=]
=

il
|
LF¥)
o
g

4, 4%
Options :
686340151801. 1
686340151802. 2
686340151803. 3
686340151804. 4

Question Number : 52 Question Id : 68634038437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the per capita production function y = k= what is the level of savings rate at
which the consumption per capita is maximised at steady state? Assume
depreciation (6) = 0.1 and no population growth.

1. 10%

| B

. 20%
3. 40%

4. 50%
Options :

L



686340151805. 1
686340151806. 2
686340151807. 3
686340151808. 4

Question Number : 52 Question Id : 68634038437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufdt cufdd e wa y =105 8, d §9d & &1 98 TR ol g forg R f&R
3T H Uid Safad FUHFT SHftd g1 8 | 7 o i e 819 (5) =
0.131R S ¥ $ig gfg el |

1.10%

[ ]
“d
o)
ol
v

4. 50%
Options :
686340151805. 1
686340151806. 2
686340151807. 3
686340151808. 4

Question Number : 53 Question Id : 68634038438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider an economy with perfect capital mobility. fixed price level and flexible
exchange rate. What will be the effect of a rise in foreign mterest rate on output?

1. rige

| )

. decline

L]

. no change

4. falls at a decreasing rate
Options :
686340151809. 1
686340151810. 2
686340151811. 3
686340151812. 4

Question Number : 53 Question Id : 68634038438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it &1 quf wTicRiiad. Fad S iR adidl [afFeg o e srfoem =
fGaR Sifsu| fad=i =7l o2 # i & URUIHRGEY e IR WHIG &1 BHT?

1Lgf&
2.8
3. ®ig gikda- Jal

4. GIHH &X R HH &ldl o
Options :
686340151809. 1
686340151810. 2
686340151811. 3
686340151812. 4

Question Number : 54 Question Id : 68634038439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the inverse demand fimction is P = A — BQ. where A and B are positive

constants. what 1s the elasticity at Q = 2—?} 7
1.-B
L
B
3. 2A
4.1
Options :

686340151813. 1
686340151814. 2
686340151815. 3
686340151816. 4

Question Number : 54 Question Id : 68634038439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¢ oA AN e P=A-BQ. S 9l A 3R B *HEF RRF T, Q= 2_?} Ed
ot gnfi o |

1.-B

b

4.1
Options :



686340151813. 1
686340151814. 2
686340151815.3
686340151816. 4

Question Number : 55 Question Id : 68634038440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following renowned economists was a member of the Royal
Commission on Currency and Finance of 19137

1. Alfred Marshall

| )

. John Maynard Keynes

LX)

. Lionel Robbins

4. Joan Robinson
Options :
686340151817. 1
686340151818.2
686340151819. 3
686340151820. 4

Question Number : 55 Question Id : 68634038440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afdiaa ¥ 9 oH uiirs s 1013 & ga1 3R a0 R e $HIEH 31
Us Hod Ui

1. 3{@hs AEld
2. Sl BATS &
3. Torra e
4, S U=

Options :

686340151817. 1
686340151818. 2
686340151819. 3
686340151820. 4

Question Number : 56 Question Id : 68634038441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A | Quantitative Theory of Money 1. | James Tobin
B_ | Exchange Rate Overshooting II. | Irving Fisher
) ¥ Rudiger
C. |Law of One Price IT1. bt
D. Liquidity I_nterence as a Behaviour v | Gustar Cassel
towards Rick

Choose the correct answer from the options given below:

1. A-IV. B-1. C-III, D-II

| )

CA-IL B-IIIL, C-IV, D-1
3. A-IIL B-I1. C-IV, D-I

4. A-I1, B-1. C-IV, D-III
Options :
686340151821. 1
686340151822. 2
686340151823. 3
686340151824. 4

Question Number : 56 Question Id : 68634038441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks :

ﬂzﬂ]ﬁiﬁﬂﬂ“@ﬁﬁﬂﬁﬁﬁm

g1 T I
A |Fm @ aE g 1 [og 2lled
B [[af-mg e ¥ sidive 3@ 11 [32d7 hEr
C. [vo ®iHd &1 ¥Ea | 1L ISR SHa
p FEAF UA@RER T eadmad | e —
fafcRad famedl & 4 9el 3R &l 94 Sl -

1. A-IV. B-1. C-III, D-II

| B}

A-IL B-II1, C-IV, D-1
3. A-IIL B-IL. C-IV, D-1

4. A-11. B-1. C-TV. D-IIT
Options :
686340151821. 1
686340151822. 2
686340151823. 3
686340151824. 4

Question Number : 57 Question Id : 68634038442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which of the following statements is/are correct in AX =10

A. A system of linear equations is homogeneous if each constant to the right of
the equality is zero.

B. A system of linear equations has either a trivial solution or infinite number of
solutions.

C. A system of homogensous equations with more than unknovwns than
equations (m < n) 18 consistent and has infinite many solutions.

D. In cases where there are solutions other than the trivial solution. the
equations are linearly independent.

Choose the correct answer from the options given below:

1. A.B and D only

-J

.A. B and C only
3.A. Cand D only

4. C.D and B only
Options :
686340151825. 1
686340151826. 2
686340151827. 3
686340151828. 4

Question Number : 57 Question Id : 68634038442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AX=pH g asR a oy 98 a2

A.@WWW%%EQM@?WWW
BT T
B. ¥@% HiH0 Aoy § a1 J g6 of T 3uiay gidt § ar vy
(Trivial) BT BT B
C. YIRU GUIHRUN & U fgrg fored St ol 3 go 5 Sl o1 =T
HEF Bl (m <n) T g R S9F sFdea sk 6l
D. 3 HHA H 98] 7100 801 & JaiNad 30 50 5. IHER0 W@ s0 4
WAFEd B
1= fau U faoedl & O ged Iuged IR &1 99 SIfg:
1.®dd A, B AR D
. %Had A.B3RC
3.%ad A, C3IRD

4. %4 C.D IR B

Options :
686340151825. 1

| )



686340151826. 2
686340151827. 3
686340151828. 4

Question Number : 58 Question Id : 68634038443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During the high noon of the British Empire, which of the following statement(s)
is/are true?

A Britam had a current account surplus with India, but a current account deficit
with the rest of the world.

B. Britamn had a current account deficit with India. but a current account surplus
with the rest of the world.

C. Britain had a current account surplus with India and it had an even higher
current account surplus with the rest of the world.

D. Britain had a current account deficit with India and even higher current
account deficit with the rest of the world.

E. The current account surplus which Britain had with India was sufficient to
tide over the current account deficit with the rest of the world.

Choose the correct answer from the options given below:

1LAE

| B}

.C.D
3:;B

4. A.C
Options :
686340151829. 1
686340151830. 2
686340151831. 3
686340151832. 4

Question Number : 58 Question Id : 68634038443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafew amTeg 31 Spal & aRA FERa T ITA A Py T &

A. Toic &1 YRd & W1y Ao WA =y o1, wiq Ay fay & gry Fre @
BIERIE

B. f61e= &1 URA & W1y =g @ral ureT o1, 9 WY fay & 91y =re @rar
SRS 7|

C. fsid=T &1 YRd & |1y =g Gran ALY o1, 93g 99 fay & Ty g5d
IR e Wl SRy o

D. fsi¢= &1 YRd & H1Y =1 @idl °rel Y. Tid Y (9% & 1Y 39 F=
EISKEIRIIERIT

E. f§ie o1 YIRd & 91 e Ardl U<y o1, iig 9y fay & w1y =re @l
g1e] B UR $HeA & iU g ol

= fau e faeedl # 4 9a€ 9Ugad ST &1 994 BIfod:

1, A E

[ ]

AT 1)
3.D.B

4. A.C
Options :
686340151829. 1
686340151830. 2
686340151831. 3
686340151832. 4

Question Number : 59 Question Id : 68634038444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: A large share of the expenditure in the government budget during the
colonial period 1is referred to as Home charges and had to be paid in sterling.

Statement IT: On the depreciation of the Indian rupee. the expenditure of the
colonial government in India used to decrease because of this reason.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true
Options :
686340151833. 1

686340151834. 2
686340151835. 3



686340151836. 4

Question Number : 59 Question Id : 68634038444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl py feu g

@Y LA IS FTa & SR DR gole T 70 & 95 3% B T8 Yed &
9 F g fifa v oTan @ SfR ST Wi el § fasa S o)

SYF II: YRAG $UU & el IR URA 4 SH0i-df¥e SReR &1 o g4
HRU & Be-aey HH B Sl UT|

IRIEd YT P AP B, 7= 20 0 fawedl & T 9E IR B 994 S
1. PYTI RIS 9a E
YT IR TS S 8

PO, A PUT I 3d §

[ ]

Lad

4, YT ITI L. AP T PYT U T E
Options :
686340151833. 1
686340151834.2
686340151835. 3
686340151836. 4

Question Number : 60 Question Id : 68634038445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose massive capital outflows cause nominal exchange rate to depreciate by
10%. At the same fime. foreign and domestic price levels rise by 5% and 20%
respectively. What will be the approximate change in real exchange rate?

1. Depreciation by 2.5%

-

. Depreciation by 5%

Tad

. Appreciation by 25%

4. Depreciation by 25%
Options :
686340151837. 1
686340151838. 2
686340151839. 3
686340151840. 4

Question Number : 60 Question Id : 68634038445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HegH Sy T fagme doft sfetiars & SR Hifs® A R T 10%
TeIgI B1aT & | ST Ty faeelt oie ove go W & HHs: 5% 3R 20%
gl il © | arkIiae® [afHTa g3 O ulead &1 019 &1 g

1.2.5% 079 g

L] ]
v

A2
£ 2

4. 25% Held gld
Options :
686340151837. 1
686340151838. 2
686340151839. 3
686340151840. 4

Question Number : 61 Question Id : 68634038446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The inverse of a function: :_J_; y+9 1s

| E%]
=

A
-

4. —x* -3

Lad| =

Options :

686340151841. 1
686340151842. 2
686340151843. 3
686340151844. 4

Question Number : 61 Question Id : 68634038446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| }{2_%

2. %xz

3.-3x+1

4 L2

4. 75'}{ -3
Options :

686340151841. 1
686340151842. 2
686340151843. 3
686340151844. 4

Question Number : 62 Question Id : 68634038447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
With good X on the horizontal axis and good Y on the vertical axis. a U shaped
indifference curve indicates:

—t

. X good. vy bad

rJ

. X and Y both good

L]

. X good then bad: Y good

4. Y good then bad: X good
Options :
686340151845. 1
686340151846. 2
686340151847. 3
686340151848. 4

Question Number : 62 Question Id : 68634038447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 31 TR a% X 1R SeaieR Sigf WOk Y & WY, U U SHpid ardl
AT aep ey HRal g

XTS. Y 5
X SR YEAITS
XTSRES: Y8

—t

[ )

L+ ]

1. YTS RS : XS
Options :
686340151845, 1



686340151846. 2
686340151847. 3
686340151848. 4

Question Number : 63 Question Id : 68634038448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Second order Taylor series expansion of y = In(1-x) 1s :

[ )
e

Options :

686340151849. 1
686340151850. 2
686340151851. 3
686340151852. 4

Question Number : 63 Question Id : 68634038448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

» = In(1—) 1 el UshH TR 40l [9WR &

2
e
+
-
|4| b

4, o X

Options :

686340151849. 1
686340151850. 2
686340151851. 3
686340151852. 4

Question Number : 64 Question Id : 68634038449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

Suppose that in a given college, proportion of admitted students who complete
their degree 18 0.7, what 13 the expected number of students who will complete
their degree from a random sample of 20 students from a given batch?

1. 14

[ ]
(e

4.4
Options :
686340151853. 1
686340151854. 2
686340151855. 3
686340151856. 4

Question Number : 64 Question Id : 68634038449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D1 B b Tl weTfaenerd § waw urd fbu gu ol § 9 fotll gt oA
drel STl BT 3 0.7 81 fbl fau mu &= 9 fere v 20 faenfdal & arefe
T 1 ¥ 5 o)l = are faential Syt S 1 57

1. 14

[ ]
(=

3.42

4.4
Options :
686340151853. 1
686340151854. 2
686340151855. 3
686340151856. 4

Question Number : 65 Question Id : 68634038450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; ; . dx d
Find the general solution of the differential equation: — + e S
7 e

1 1
X ¥ £

| )

degxrlogy=cy+ey

lxy=c

4. x+ty=c
Options :



686340151857. 1
686340151858. 2
686340151859. 3
686340151860. 4

Question Number : 65 Question Id : 68634038450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s gt 0 2o o 1 g Fa A R

¥

11
Xy %

-

| )

Aegx~logy=ey o

Jx=c

4. x+y=c
Options :
686340151857. 1
686340151858. 2
686340151859. 3
686340151860. 4

Question Number : 66 Question Id : 68634038451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The possible inflection points for (x) =—x7 — '3 v& g4 | isfare:
lox —-%
2ox=- ,!.;
3. x==and x = :
K T, = E <l = 2
4.2
Options :

686340151861. 1
686340151862. 2
686340151863. 3
686340151864. 4

Question Number : 66 Question Id : 68634038451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



f(x)=lx3 —lxz —%x +1 & fere ST o fig §:

Q 6
1 K—'-I-
=
2% "é
3. x—% and x = %
42
Options :

686340151861. 1
686340151862. 2
686340151863. 3
686340151864. 4

Question Number : 67 Question Id : 68634038452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 3
Find the scalars J.; and 7, that are attached to v = and w = { !:| to yield I:%} ]
2

2 2
1. = Wl
Gyl

1 . 2

2- !] _.?'rh LZ E

" . 1

3 J"\,-l = 5._ f\.—z E
" I 2
4- .P,! z E J"-.,? = g

Options :

686340151865. 1
686340151866. 2
686340151867. 3
686340151868. 4

Question Number : 67 Question Id : 68634038452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[}]]m@qaaﬁm . ; sﬂq{j@mm ) SR, B

2 2
1. = W e
=gl Sy
| 2
-1- f] —E. .r"_z E
. g 1
-3- J"vl —5 f\.—z =E
4 ; Il - 2
. .P.,! = E f-.,: = g
Options :

686340151865. 1
686340151866. 2
686340151867. 3
686340151868. 4

Question Number : 68 Question Id : 68634038453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Suppose the correlation coefficient between two variables X and Y is 0.6, what
proportion of variation in Y 1s explained by variation in X?

1. 0.60

[ ]

.0.36
3.0.40

4.0.2
Options :
686340151869. 1
686340151870. 2
686340151871. 3
686340151872. 4

Question Number : 68 Question Id : 68634038453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BegAl D b 31 =R X 3R Y & &iF HgHdY qUid 0.6 61 Y H WEIU Bl
faraT SaTd X T YRR §R1 ReATad &2

1. 0.60

| )

. 0.36
3.0.40

4. 0.2
Options :
686340151869. 1
686340151870. 2
686340151871. 3
686340151872. 4

Question Number : 69 Question Id : 68634038454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
For a strictly convex function f{x). which one of the following 1s true? [0 <7 < 1]

1. },.f{-“ﬂﬂ‘(] ~A)f {xz]b,,f[?mm +(1- *"*J"‘:i

L O {xl J+(1- (%, ) & _f'{lxl +(1 —3,}.\12]

fad

Chf (%) =R) £ (xg) 2F[Axy +(1-2) %, |

e

AT (%)= (=207 (x5) < €[ A (x )+ (1=2)x,
Options :

686340151873. 1

686340151874. 2

686340151875. 3

686340151876. 4

Question Number : 69 Question Id : 68634038454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T&: JAdIeR (39) e fx). & u Fefedd s a@ e o< < 1]

Lo f(xg)+(1=2) 1 (x;5) > [ Ax; +(1=2)x, ]

2. 0 (%)) +(1=2) £ (xp) < £ 2 + (1= 2)x, |
3.0 S (%) +(1=2) £(x5) 2 [Ax; +(1-2)x, |
4. 0 f (%) =(1=2) 1 (x5) < €[ A (x,)+ (1-2)x, |

Options :
686340151873. 1
686340151874.2



686340151875. 3
686340151876. 4

Question Number : 70 Question Id : 68634038455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lmear regression model 1s:

1. Linear in explanatory variables but may not be linear in parameters

[ )

. Nonlingar in parameters and must be linear in variables
3. Linear in parameters and must be linear in variables

4. Linear m parameters and may not be linear in variables
Options :
686340151877. 1
686340151878. 2
686340151879. 3
686340151880. 4

Question Number : 70 Question Id : 68634038455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T AT Alsa:

1. TS R 1 S 81 ¢ fobeq va ¢ 3 ur=all 1 e a1 8l
YTl | SR SR =R H i gh|
e B ¥ R W 4 g g
4. TTES! H Y@ BT SR YHa § o o)1 | 3@ el 5l
Ghosa0n 1577, 1
686340151878.2

686340151879. 3
686340151880. 4

[

[ 5]

Question Number : 71 Question Id : 68634038456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the expression
A e
u; gives the difference between

1. the actual and estimated Y values

-

. the actual and estimated X values

3. the actual and estimated values of i;

4. actual and estimated values of B,
Options :
686340151881. 1
686340151882. 2
686340151883. 3
686340151884. 4

Question Number : 71 Question Id : 68634038456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau T v
AA .
(, Trees &t SieR e &l &
1. Aide 3R Il Y 7

. ARdid® R Uadhiead X 9F

| ]

(%]

. By 3 dIEId® SR UIEHIcd 01

4, B, 3 ARAIA® 3R WIgH aq A1
Options :
686340151881. 1
686340151882. 2
686340151883. 3
686340151884. 4

Question Number : 72 Question Id : 68634038457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



You are given the following data for two variables X and Y:

X =2.00, Y=4.67

Regression coefficient of Y on X = 1.50

What is the estimated value of intercept in the regression of Y on X7

1. 7.67

| ]

. 1.67
3:2.335

4, 214,67
Options :
686340151885. 1
686340151886. 2
686340151887. 3
686340151888. 4

Question Number : 72 Question Id : 68634038457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST X 3R v I == & fou fafafEy sies g m §
X =2.00, Y=4.67

Y IR X &1 JHIHYGU 10N = 1.50

Y & X O3 GHIYAU § 3i=: WUS & UIdDoid HIH a1 sHT?

1.7.67

| )

. 1.67
3.2.335

4. 2/4.67
Options :
686340151885. 1
686340151886. 2
686340151887. 3
686340151888. 4

Question Number : 73 Question Id : 68634038458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose that for a random sample of size 10. sample covariance between variables
Xand Y is 100, and sample variances of X and Y are 25 and 400 respectively.
What is the value of sample correlation coefficient between X and Y?

1;1

[ ]

. 0.01
3.0.1

4. 0.001
Options :
686340151889. 1
686340151890. 2
686340151891. 3
686340151892. 4

Question Number : 73 Question Id : 68634038458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 TRfoTE & ufdes SR 10 e U Urefed® ufdexi sg <R X AR Y S
a9 el T TRIROT 100 § 3R X 3R v & wiaes vaRo e 25 3R 400 §
dl X 3R v & dl9 uldes gggasy qulie &1 91 & 8722

1.1

[

. 0.01
3.0:1

4. 0.001
Options :
686340151889. 1
686340151890. 2
686340151891. 3
686340151892. 4

Question Number : 74 Question Id : 68634038459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The consumption function is given by C = 100 + 0.8y and the investment 1z given
by I = 50. For which of the following level of output the level of unplanned
inventories would be negative?

1. 790

[ )

750
3. 800
4.740

Options :
686340151893. 1



686340151894. 2
686340151895. 3
686340151896. 4

Question Number : 74 Question Id : 68634038459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JYHFT B € = 100+ 0.8y P GRI 3R F9W 1= 50. F gRI G a1 g |
fofeiRed & 9 Sae & fod TR & o g @s Gdell) o1 wR
FHUMHD G

1. 790

[ Fo]
o |
L
=

3. 800

4. 740
Options :
686340151893. 1
686340151894. 2
686340151895. 3
686340151896. 4

Question Number : 75 Question Id : 68634038460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The maximum value of Fiscal policy multiplier 1s

(b implies sensitivity of planned investment spending to interest rate, ¢ implies
marginal property to consume. t is marginal tax rate, k refers to sensitivity of
money demand to interest rate)

b

=0

Options :

686340151897. 1
686340151898. 2
686340151899. 3
686340151900. 4

Question Number : 75 Question Id : 68634038460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST S i g5 BT ifean 9 21 (b 1 31 T TR Bt

do1 8 Fifed Ha @ garfed! &.c &1 3 Iuu &t dr oife, « S
PR &3 5, K &9 &3 & Uid gal #17 o! guifedl 9 g=iid g1)

(O
k
1
1—e{l-1)
g 1
]
g
“l-g(l —1)
Options :

686340151897. 1
686340151898. 2
686340151899. 3
686340151900. 4

Question Number : 76 Question Id : 68634038461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following data of an economy is given:

Consumption function C=300+0.8 (1 -1) Y:
Investment Function I = 900 — 50 1
Government expenditure G = 800,

Marginal tax rate t = 0.25

The IS equation corresponding to the above 1s:

1. ¥ =5000+ 1251

b2

.Y =5000-1257
3.¥Y=4250-125:

4.Y¥=4250+1251
Options :
686340151901. 1
686340151902. 2
686340151903. 3
686340151904. 4

Question Number : 76 Question Id : 68634038461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



foelt erfogawyr &1 afafad srosl [dar gen gl
FUURTHATC =300+ 08 (1-1) ¥

faer ®e 1=900-501

PR T G = 800:

AT PR =025

IR & TETIR IS FHIDI 5

1. ¥=5000+12571

[ B

Y =5000—-12517

L]

Y =4250—1251

4, Y =4250+ 1251
Options :
686340151901. 1
686340151902. 2
686340151903. 3
686340151904. 4

Question Number : 77 Question Id : 68634038462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The currency to deposit ratio of an economy is 0.2 and the reserve to deposit rates
is 0.1, at present. What happens to the value of money multiplier if the currency to
deposit ratio for whatever reason is now at 0.4?

1. The money multiplier increases from 0.25 to 2.8

|

. The money multiplier increases from 0.25 to 1.25
3. The money multiplier falls from 4 to 2.8

4. The money multiplier increases from 2.8 to 4
Options :
686340151905. 1
686340151906. 2
686340151907. 3
686340151908. 4

Question Number : 77 Question Id : 68634038462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fepil erfouaeyr &1 aad § STHT S0Td & Wid G&T 0.2 8 3R 991 391d &
wld 3RIgd 0.1 €1 afe 3nft forg ford ot Ron g o1 S urd & Uid gaT04 3
dl g1 uie & J14 ¥ foba=1 uRad= grm?

1. G&T 701 0.25 9 9¢®R 2.8 B ol g |
2. Q&I UM 0.25 ¥ §g@< 1.25 51 offdl |
3. &I 0T 4 9 TR 2.8 §1 Sl 6

4, GEI U1 2.8 § 96X 4 5l Sl ¢ |
Options :
686340151905. 1
686340151906. 2
686340151907. 3
686340151908. 4

Question Number : 78 Question Id : 68634038463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s RBI's target of inflation for the period 2021-267

1.5+2%

B}

34+ 2%

3.4x1%

4.4=2%
Options :
686340151909.
686340151910.
686340151911.
686340151912.

AW N —

Question Number : 78 Question Id : 68634038463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2021-26 SafY §q RBI BT a1 Whild B A& 1 87

1.5+£2%

=l
[
.I
| B
;\G.\

4. 4.+ 2%
Options :
686340151909.
686340151910.
686340151911.
686340151912.

AW =



Question Number : 79 Question Id : 68634038464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
As per the Marshall Lerner conditions, for the trade balance to improve following
depreciation of the currency:

1. the sum of the ¢lasticities of exports and imports should be greater thanl

[ ]

. the sum of the elasticities of exports and imports should be less thanl
3. the sum of the elasticities of exports and imports should be equal to 1

4. the sum of the elasticities of exports and mmports should be equal to zero
Options :
686340151913. 1
686340151914. 2
686340151915.3
686340151916. 4

Question Number : 79 Question Id : 68634038464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gmfﬁaﬂ%mﬁaa STHR TR o H GYR °q 9al P Haued- Fafeiad
[

. 3mTa ue e 1 @ w1 an 1 8 A4S g anfiu
. 3maTa v Fafd @t dh @199 1 9 $E 841 91ieu|
. TaTa U ot @1 ofe &1 9 1 & §ER e 91|

4. 3{TOTd UG Haid &1 @i ST 41 SR o sk gl Algu|
Options :
686340151913 1
686340151914, 2
686340151915.3
686340151916. 4

—

[

fad

Question Number : 80 Question Id : 68634038465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: In case of inferior goods. Engel curve 1s upward sloping.
Statement II: In case of normal goods, Engel curve is downward sloping.

In the light of the above statements, choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 15 true
Options :
686340151917. 1
686340151918. 2
686340151919. 3
686340151920. 4

Question Number : 80 Question Id : 68634038465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH T RU E:

®YF I: [y awgsil & Od O Uold o SURYdE! g gl g |

BYF 11 TR GG & e § Toid a9 He grer ara g1

SIRITd HUA & faie 4, 9 U T faeed & 9 98l SR &1 997 Sitau:
1. U1 AR I ST TS 8

HYF 1 3R 11 ST T §

UGS R EANIGEEIES | RIGEE

4, PYF 1A . dichd HYH I1 981 &

Options :

686340151917. 1
686340151918. 2
686340151919. 3
686340151920. 4

[ ]

LF% ]

Question Number : 81 Question Id : 68634038466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following former Governors of RBI in the chronological order of their
tenure as Governors starfing from the earliest:

A. C. Rangaswanu
B. D. Subbarao

C. I G. Patel

D. Y. V. Reddy

E. Bimal Jalan

Choose the correct answer from the options given below:

LCEAB&ED

| ]

ACE.D&B
3L.CAED&B

4, B.A.C.D&E
Options :
686340151921. 1
686340151922. 2
686340151923. 3
686340151924. 4

Question Number : 81 Question Id : 68634038466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HR. &1, 3115, & FEfaRed 9d Ta-R1 &l 399 TR & ¥4 8 Se &
UEIHTH 8 Td-ad STarshd § ogaiyd Sifey

A, T TREE

B. Sl

cr.&néﬁﬁq%?r
D. dg dl. X8l
E. [98d SiiaH

= feu e fao el © ¥ 998 SUgad SR &1 99 Sifuy

1.CEABD

[ ]

ACEDB
3.CAEDB

4. BACDE
Options :
686340151921. 1
686340151922. 2
686340151923. 3
686340151924. 4

Question Number : 82 Question Id : 68634038467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
Arrange the following events in Indian economy in chronological order. starting
trom the carliest :

A Passing of integrated Goods and Services Tax bill in India (by Lok Sabha)
B. Information Technology Act

C. Demonetisation of T 500 & 1000 notes in India

D. Launching of Pradhan Mantri Jan Dhan Yojana

E. Launching of Sugamya Bharat Abhiyan

Choose the correct answer from the options given below:
IL.D.B.E.C.A
2: By R GaA
3:B.ByE. A

4, EB.D.A.C
Options :
686340151925. 1
686340151926. 2
686340151927. 3
686340151928. 4

Question Number : 82 Question Id : 68634038467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
YR sifeggey H FyfaRad uftaersi of yiy § Y% $d gU PIasd s
3k H ogaid Sifuu|

A. (T GUT & ERI) YR & Usidhd H1d AR 9al [§99% &1 uikad g1
B. G Ui Sfdf-as

C. YIRd H 2 500 TT 2 1000 & et &1 [AHLIDHT

D. TTAHA! T SIS BT HRY

E. go-01 YRd G BT R

- fou T foeedl & 9 998 9ugad SO 31 99 Bl

I.D.B.E.C.A

2.B.D.E.C.A
3.B.D.E.A.C

4. E.B.D.A.C
Options :
686340151925. 1
686340151926. 2
686340151927. 3
686340151928. 4



Question Number : 83 Question Id : 68634038468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in correct chronological order starting with the earliest :

A. 1st meeting of Monetary Policy committee

B. Export Import Bank of India commenced operations
C. Enactment of FEMA

D. Digital India campaign

E. Narasimhan Committee—1I

Choose the correct answer from the options given below:

LDACERB

[ ]

.B.E.D.A.C
3.B.E.C.D.A

4, E B.C.D.A
Options :
686340151929. 1
686340151930. 2
686340151931. 3
686340151932. 4

Question Number : 83 Question Id : 68634038468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

frafeiiad @1 3y U Y Hd gU Yel SIeihiid phH H Hdyd Difeu|

A, Hifg® Hifa oftfa ot vedl so@

B. YRAW A Haid §% = vane uRe e
C. FEMA &1 3ffef-ag

D. felored e sifvam

E. R 9fHfd -1
- fou T famed! & 9 9a8 9Uged SR B 99 Hifor:

1.DAACLE.B

[

B E DA B
3.B.EEC.D. A

4 E. B C.DA
Options :
686340151929. 1
686340151930. 2
686340151931. 3
686340151932. 4



Question Number : 84 Question Id : 68634038469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the chronological order starting with the earliest.

A, Loentief Paradox

B. Factor proportions Theory of International Trade

C. Absolute Advantage Theory of International Trade

D. Comparative Advantage Theory of International Trade

Choose the correct answer from the options given below:

1.A,B,C.D

2

LGB A
3.B.A.D.C

4.C.D.B.A
Options :
686340151933. 1
686340151934. 2
686340151935. 3
686340151936. 4

Question Number : 84 Question Id : 68634038469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiiad @1 3y U Y Hd gU Yel SIeihiid phH H Hdyd Difeu|

A, T Ay

B. TTIR BT SRS AT
C. TR &1 T ary

D. SR P Ja-IED Ty

=i fqu e ool 7 9 9ad Sugad SR &1 98 BIT:

1A B GB

|

DL E BA

B.A. D, C

L]

4 C.D.B.A
Options :
686340151933. 1
686340151934. 2
686340151935. 3
686340151936. 4

Question Number : 85 Question Id : 68634038470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: For a random variable X which has mean = 10 and variance = 100,
the variance of (5x + 10) 1s 2500.

Reason R: Var (ax + b) = Var (x)
and zo the variance of (ax + &)
or Var (5x + 107 1s 100,

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are true and R 15 the correct explanation of A
2. Both A and R are trie but R is NOT the correct explanation of A
3. Ads true but R is false

4. A is false but R 15 true
Options :
686340151937. 1
686340151938. 2
686340151939. 3
686340151940. 4

Question Number : 85 Question Id : 68634038470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
1 G 2 (3T U & U SITUSYUT (Assertion A) & v H [RId © ol g8R1
TP PRI (Reason R) GEas Rl

HIUPYT A: TF TEl50 =R X o @ 3ie = 10 3R [daa9 =100 8. (5x +
10) &1 fd=eT 2500 Bl

WR:?R[ax+E;)=ﬂ?(x}3ﬁ?$E Sl (ax+b}ﬁ|aﬁﬁqmﬂ (Sx+10) 1
10081

SIRIed HYE & ATde 5. 1 U U [dedd ¥ § 99w ST SR &1 994

1. A SRR 981 8 SRR A D] 98! IR &

A 3R R EHI T § SRR, A B Ut orren e 8
3.ATGI g AR TR TG @
4, AFEITEl g AfPTR UGB

Options :

686340151937. 1
686340151938. 2

[ ]




686340151939. 3
686340151940. 4

Question Number : 86 Question Id : 68634038471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

, 1 2 "
Assertion A : For matrix A = L; |6—| .rank of A=r{A)=1

Reason R: For matrix A if | A | = 0. then it implies that rank of matrix A given by
r(A) 15 less than full rank.

In the light of the above statements. choose the mosr appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R i3 NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct
Options :
686340151941. 1
686340151942, 2
686340151943. 3
686340151944. 4

Question Number : 86 Question Id : 68634038471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=19 2 2 3T 70 8 U SHTUSUT (Assertion A) & 39 § [IRGd & a1 G&R1
I BT (Reason R) & 3T T:

HTUBYTA : B A _[; ﬂ A PBIIB =1(A)=1

PRUIR: HIE A TqdiG | A|=0, e [Galé@ siar e & siege A FI@
S 1(A) T GRI VST &, QU & ¥ A &

SWRIad PU & sdlie 4, - fGu 7y fowedi & O gad Iuged SR &l 904

1. A 3R REH TSI § SRR, A B Il A &
2. AR REA TEI € AR R A T 98! RS 761 &
3L AGSIEAEIR eI TR B

4. A HEl TRl B OPTR W ®
Options :
686340151941. 1
686340151942. 2
686340151943. 3
686340151944. 4

Question Number : 87 Question Id : 68634038472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: General equilibrium is attained in an economy when demand equals
supply in all markets simultancously.

Reason R: In a general equilibrium model. relative prices cannot be determined.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 138 NOT the correct explanation of A
3. A is correct but R is not correct
4, A iz not correct but R is correct
Options :
686340151945. 1

686340151946. 2
686340151947. 3



686340151948. 4

Question Number : 87 Question Id : 68634038472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 Gl P2 (U U §: U SITUBY (Assertion A) & ¥9 H (ARG § ol g2
IS PRI (Reason R) % 39 1

firmyT A 5t snfooaen & oig O ofd & ek It aoR & ue Wy
T § 9 W e W g ¢

éﬁr@m: I o Wiasy § Adige gedl o1 (HeiRor 78] fdar o o
i

SIRIed HYE & fTdi® §. =14 U U [dedd § § 999 IUged SR &1 994

A SRR U8l € SR R. A DI UEI IR &

2. A SR R EF e § SR R, A 1 W) oare 781 &
AT AHIR TG TS

4, A FEI el B OPTRTEI ®

Options :

686340151945. 1
686340151946. 2
686340151947. 3
686340151948. 4

—

Lad

Question Number : 88 Question Id : 68634038473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Let vector @ =(x. 3, z) and vector b= (2, 3. 5).
Thena=bifand onlyifx=2. y=3 andz=5.
Reason R: Two vectors are equal 1if all their corresponding components are equal.

In the light of the above statements. choose the meost appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct but R 15 NOT the correct explanation of A
3. A is correct but R is not correct

4, A iz not correct but R is correct
Options :



686340151949. 1
686340151950. 2
686340151951. 3
686340151952. 4

Question Number : 88 Question Id : 68634038473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 2 H2F AU U 5 US SIfUTYT (Assertion A) & U [IGT & d 2511
3P BRI (Reason R) & TY T:

ST A: T 6 IER a=(x. 3. 2) AR TR b=(2.3.5) ETa=b BN
afg R HAA TG x=2.y=3 3ARz=5%l

PRI R: &1 9% I0F 8id © afe 39 94l Id 3/aud o1 ued ga= 8id o |

i FYUF & SHTdl® 1, 1 ST 7Y [l ¥ ¥ 9as Sugad ST) &1 994
I 1:

1. A SR R G 981 € SR R. A 1 96| AT &

A SR R G 98I & 3R R. A B el ARHA 6l ¢
3. AT S PR IS

4. AGE TR EUPIR TS ©

Options :

686340151949. 1
686340151950. 2
686340151951. 3
686340151952. 4

[ ]

Question Number : 89 Question Id : 68634038474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: According to the Heckscher-Ohlin model. free trade results in
equalisation of factor prices across nations.

Reason R: This is because the model assumes perfect international mobility of the
tactors of production.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are true and R is the correct explanation of A

B

. Both A and R are true but R is NOT the correct explanation of A

. A 15 true but R is false

Tad

4, A is false but R is true
Options :
686340151953. 1
686340151954. 2
686340151955. 3
686340151956. 4

Question Number : 89 Question Id : 68634038474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

193 $YF QU & UP HATUDYUT (Assertion A) H $9 H [RGd 8 d TERT
JYh BT (Reason R) & Y T:

STUBYT A: BRR 3feler Uy & AR g8 Yl § gl oO9IR RS
el & THSR § R g |

WR:%HEWWWEMNIM & PRDI DI 4Y AP Taierdr
HH A 8|

ﬁmﬁi&nﬁmﬁ.%mwﬁwf@mmﬁ?ﬁw
1.A R REHA Ul 8 SIRR. A B Ug| IAT &

A SRREF T8I 8 SRR A &I T8] A1 81 ©

3. ATEI S AfT R GET ST ©

4. AYSI TGl gUlPARYGI ©
Options :
686340151953. 1
686340151954. 2
686340151955. 3
686340151956. 4

[ ]



Question Number : 90 Question Id : 68634038475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A | Neoclassical theory of investment| I | Keynes
B. | q theory II. | Jorgenson
C. | Marginal Efficiency of Capital IT1. | Samuelson
D. | Multiplier-accelerator model IV. |[Tobin

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-L, D-III

| ]

ATV B-TILL C-I1. D-I
3. A-IV. B-II. C-I, D-III

4. A-I1. B-IV. C-III. D-I
Options :
686340151957. 1
686340151958. 2
686340151959. 3
686340151960. 4

Question Number : 90 Question Id : 68634038475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 = 11 9 e Sifsn

T 1 T I
=1 T To0RA gid] 1 [iddd
q FIEid 1. [SFHE
Uil ! HE= W 1L [4quaE
[T T iey I CES]

fafaRad faeedl & 9 98l 3R &1 994 Difold ;

1. A-IL, B-IV. C-I, D-III

ofo[w[s

2. A-IV. B-I11. C-II. D-1
3. A-IV. B-II. C-1. D-III

4, A-IL. B-IV. C-III. D-I
Options :
686340151957. 1
686340151958. 2
686340151959. 3
686340151960. 4



Question Number : 91 Question Id : 68634038476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A Cou;not_ 1. | Joint Profit Maximisation
Equilibrium
B | sk Boqnitibimm| I Largest firm sets price to maximise
profits
Equilibrivm in which each firm
Courmnot Collusive correctly assumes how much 1ts
£ R I11. : : _
Equilibrium competitor will produce and sets its

own production level
; = Set of strategies or actions in which
Dominant firm = : A ; :
D. - IV | each firm does its best given its
i competitor's actions.

Choose the correct answer from the options given below:

1. A-L. B-III. C-IL. D-IV

| )

CA-L B-ITL C-IILL D-IV

Lad

AL B-TIV. C-1 D-II

4. A-Il. B-1. C-IIL D-IV
Options :
686340151961. 1
686340151962. 2
686340151963. 3
686340151964. 4

Question Number : 91 Question Id : 68634038476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



el 1T = 11 9 e Sifsy

eI Tt 0
A [ ged L [gga Ty HiEmaH®E
B. [ qee I g%“ﬁgﬂaw Sried I

N e g Udid B Ugl Su H
" %ﬂfigﬂa - A ol & o 3gd uiaead fGan
L " [3EA DU R 30 Jadie- &2
e CARGEGG RGN
fernatt 3R o o1 ST
D kol | foroH Udieh BH ofu ufaeafear &
- [ 'Wag?ﬁ&awm%ﬁ
@

fAafaiad foeedi § 9 9el 3R &1 994 Sifo -

1. A-L. B-III. C-IL. D-IV

2, A-L, B-II, C-III. D-IV
3. AL B-IV. C-I, D-II

4, A-II. B-1. C-III. D-IV
Options :
686340151961. 1
686340151962. 2
686340151963. 3
686340151964. 4

Question Number : 92 Question Id : 68634038477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LISTO
Collateralised lending by
4. | FLiScheme L Central Bank for longer periods
3 Insolvency and 1 Liguidity enhancing and
" | Bankruptcy Code " |investment boosting measures
c Long Term Repo i Chick Resolution of non-
" | Operations " lperforming assets of banks
p. |upr v Largest _d1g11"a1 retail payment
system in the country

Choose the correct answer from the options given below:
1. A-IV, B-III. C-I. D-II
2. AL B-1. C-IV, D-IIT
3. A-IV. B-I. C-III. D-II

4, A-IL. B-I11. C-1. D-IV



Options :

686340151965. 1
686340151966. 2
686340151967. 3
686340151968. 4

Question Number : 92 Question Id : 68634038477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1T = 11 ¥ e Sifsg
T I TR |

A |pL1uRareHr L w%i- ! %gmd;ﬁ'qu
& FRUTRITYS H&HT 31X i eI Satd AR HdR g
C. Eemife® Wi y=Ees I wﬁwwaﬁz W’ Eﬁﬂ‘:‘i s

: ez ™ 9o =31 faforea way
D. [UPI V. =
HafiEd faeedi O O 9l 3O &1 99 I :

1. A-IV. B-III. C-I, D-IT
2. AL B-1L C-IV, D-ITT
3. A-IV. B-1. C-III, D-I1

4. A-I1. B-II1. C-I. D-IV
Options :
686340151965. 1
686340151966. 2
686340151967. 3
686340151968. 4

Question Number : 93 Question Id : 68634038478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Walras' law states that the value of aggregate excess demand for all
markets is zero.

Reason R: If (K-1) markets are in equilibrivm, then the market for good K will
automatically have demand equal to supply.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A

. A 15 correct but R is not correct

Tad

4, A is not correct but R is correct
Options :
686340151969. 1
686340151970. 2
686340151971. 3
686340151972. 4

Question Number : 93 Question Id : 68634038478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 21 HY AU U §: U U@ (Assertion A) & U H 714 © ol &311
IPH PRUI (Reason R) HIqH

TUDYT A : Ty Rgid / oy ug HEly o= ¢ i 9l §19R & e oo
R T &1 0H YT eIl o

BRUTR: TG (K-1) TR FG0 3 & ol 9% K oq aToR @a: fd & I97
g1 SR HIAT TG

SRIEd Sy & 3Helld 1, 1= f3u 7 fdeeul & 8 998 Iugdd IR o1 984
IE 1:

1. AR R GHI Uel § IR R, A D! Hel URAT &

2. A SRR G G981 € AR R A P T O 781 &
3. AT R AfFIR T S R

4 ATRI R T ofT R W ®

Options :

686340151969. 1
686340151970. 2
686340151971. 3
686340151972. 4




Question Number : 94 Question Id : 68634038479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are correct regarding market structures:

A. Monopolistic competition is characterised by free entry/exit with each firm
producing differentiated goods.

B. Oligopoly allows free entry.

C. Cartels are formed when firms explicitly collude and maximise joint profits.

D. Monopoly power arises when price = AC

E. Competitive market does not allow free entry:.

Choose the correct answer from the options given below:

1. A and B only

-

. A and E only
3.Cand D only

4. A and C only
Options :
686340151973. 1
686340151974. 2
686340151975. 3
686340151976. 4

Question Number : 94 Question Id : 68634038479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR g4 & ey & afafga ¥ o a8 &
A. USRI wiadifiar fAddied a%] Sdie- B3 g Ul B & a1y
o SaFTHA & gRI [a¥ied gidl ¢
B. S{EUIYeR Had HidlP &1 srafd Sdi |
C. 18 T gouad $U § SRV $d § AR U Ggad A B sl
FIC § 79 ST Y B T el ¢
D. 98 e >AC 76 UPIUPR ad 1 Ied sl 5l
E. Hfargelf SToTR gaa wiafy &1 erufd 987 Sar gl

<= fau e faemedl & 9 9a8 9ugad Su &1 99+ Bt
1. Bad A 3R B
2.%dd ASIRE
3.%ad C3IRD
4, %ad ASIRC
Options :

686340151973. 1
686340151974. 2




686340151975. 3
686340151976. 4

Question Number : 95 Question Id : 68634038480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct 7

A. Under fixed exchange rates and perfect capital mobility. a country cannot
pursue an independent monetary policy.

B. Under flexible exchange rates and perfect capital mobility. a country can not
pursue independent fiscal policies.

C. Under fixed exchange rates and perfect capital mobility, fiscal expansion is
extremely effective.

D. Under flexible exchange rate and perfect capital mobility. a country can
pursue an independent monetary policy.

E. Both under fixed and flexible exchange rates. there are no constraints on
pursuing fiscal or monetary policies independently.

Choose the correct answer from the options given below:
1. Aand C only
2. A Cand D only
3. B and D only

4. B and E only
Options :
686340151977. 1
686340151978. 2
686340151979. 3
686340151980. 4

Question Number : 95 Question Id : 68634038480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



B INEER G AR R O e,

A By o1 Hud Ao & SR =Ry Yol algdr & s=iid U Wad Sigs
ifc 1 oIl el vE gFdi gl

B. Bt ¢ dgeR fafAmy gv 3R ==y Usl warfedl & i Wad
eI 41T i B SR T8l T el g

c. FFroa faf g &= IR =T Uoll yaifedl & sravid Tas g TER S
gyTdl il o

D. Pl5 o= [Had AT & SR =RE Yol Halledr & =i Ue Wad Jifss
Fifd & ot @ gHar g

E. 94 3R dlEeR g 390 =1 & Sf=0id Wad 94 3 I9H N g a1
Hifg® ifagl & TR 3@ 8 $i% ulday T8l 8

- fqu e oo edl & 9 9l Sugad IR &1 90 DINT:
1. 9" ASRC
2.%ad A.C3RD
3.%ad B3RD
4.%ad BN E

Options :

686340151977. 1
686340151978. 2
686340151979. 3
686340151980. 4

Question Number : 96 Question Id : 68634038481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following pomts lie in the convex set of points (2. 3) and (4. 1)?

A.(3.6,1.4)
B. (3.0, 2.0)
C.(24.26)
D.(1.2.3.8)

Choose the correct answer from the options given below:

1. Aonly

| )

. B only

L]

. C and D only

4. A. B and C only
Options :
686340151981. 1
686340151982. 2
686340151983. 3
686340151984. 4



Question Number : 96 Question Id : 68634038481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Fafiaad oM I ey . [T (2.3) SR (4. 1) & Sadiey 99=0 8 2 g°

A (3.6,14)
B. (3.0. 2.0)
C. (2.4, 2.6)
D.(1.2.3.8)

=9 fau 7 fasedi @ 4 9a8 SUgE TR P19 B
1. dd A
2. Hadu B
3.%ad C ARD
4. PIAA B R C

Options :

686340151981. 1
686340151982. 2
686340151983. 3
686340151984. 4

Question Number : 97 Question Id : 68634038482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange in the chronological order of the occurrence of events:

A. Great Depression

B. Golden Age of Capitalism

C. Second World War

D. Setting up of WTO

E. Second international o1l price shock

Choose the correct answer from the options given below:
1.C.A.B.E.D
2.A,C.B.D.E
3.ACEED

4 ALC.E.B.D
Options :
686340151985. 1
686340151986. 2
686340151987. 3
686340151988. 4



Question Number : 97 Question Id : 68634038482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad uRuersi &1 39 811 & Prepiiie sfhH T ogafeyd $-|

D. WTO &1 RIT9AT

E. fgdia eRigiy o 9o vurd
- fqu e faoedl & 9 9l SUgad SR &7 98 DI

1:CAB.ED

| B

cA B Byl E
3.AC.B.ED

4. A,C.E.B.D
Options :
686340151985.
686340151986.
686340151987.
686340151988.

AW N =

Question Number : 98 Question Id : 68634038483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Price signalling refers to implicit collusion in which a firm
announces a price increase in the hope that other firms will not follow suit.

Statement II: Price leadership refers to a pattern of pricing in which one firm
regularly announces price changes that other firms then match.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement Il are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true
Options :
686340151989. 1
686340151990. 2
686340151991. 3
686340151992. 4



Question Number : 98 Question Id : 68634038483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl Py AU E:

HYF ;e Yoo sfafied g ¥ Fiid ¢ fors ue % o9 s o
e gfd o1 910 S © [ S8 Bl SUdT S0 A6l Hil|

®YA I1: §ed -Iqcd Jeg- &1 dald 3 g=id ¢ 5ad o v geu uitad-l o
forafira o0 3 9T St € R 370 wHf gRT d8T9R I71d &t ot 8

IR HYH & ffdld 5, Fid G0 77U fdbedi § T el 3ok &1 99 Difelt:
1. YA AR 11 G 93 §

YA AR I G TTeId §

BYT1 e &, AP PYA 17T §

4. YT 170 8. Al YT S &

Options :

686340151989. 1
686340151990. 2
686340151991. 3
686340151992. 4

[ ]

Lad

Question Number : 99 Question Id : 68634038484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: When the economy is in liquidity trap. the LM curve 18 vertical.

Statement IT: Monetary policy is ineffective when the economy 1s in liquidity
trap.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
Options :
686340151993. 1
686340151994. 2
686340151995. 3
686340151996. 4



Question Number : 99 Question Id : 68634038484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H Py e &

SUF I: TG SHIogaRT TRaTal 9 H Bl 8. LM dp SR Bl & |

HYA IL:: Aifad Ifd smyTd! gid § Jia srfouawyr avadr urer J gidi g

SIRIGd Py & 3l H, 1 AU MU fawedl F ¥ Get Gk &1 99 Sifeie:
1. PYAT AR A I &

BYAT SR 11 g TTed §

BYT1 6! &, AP HYA 17T &

4, PYT 1T 8. Al YT HE ©

Options :

686340151993. 1
686340151994. 2
686340151995. 3
686340151996. 4

[ ]

Lad

Question Number : 100 Question Id : 68634038485 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: If a proposition P implies proposition Q. then we can say that Pis a
sufficient condition for Q or P = Q

Reason R: For proportion Q to be true it 1s sufficient that Pis true 1.e.. Q18 a
necessary condition for P.

In the light of the above statements, choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
Options :
686340151997. 1
686340151998. 2
686340151999. 3
686340152000. 4



Question Number : 100 Question Id : 68634038485 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=9 2 2 3T MU 8 U SHTUSUT (Assertion A) & 3T § [IRGd 8 1 T8I
3D PRI (Reason R) GaEeRER

fiEYE A: i [l wig p & wHY @ Sifid B, 76 ©F U @6 U@ © 14 P.
Q YA P = Q & foIU FUF T B

PRUR TIQF IO ER s fonge e fFr g auiuer s fowo
S I3 o

SWRIgd HYF & fTelle H, =14 3 U f[deed! § § 9aw Iuged SR &1 994
DI

1. A SRR 961 § SR R. A B 981 ARAT 8

2. A SRR EH HE1 € IR R. A B el oA el &
AT E AR IS TE

4. A TR el ¢ AfPTR WEl 8

Options :

686340151997. 1
686340151998. 2
686340151999. 3
686340152000. 4



